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TAEE 2 & ZAME M2
602 %40, 0000H 2,400
TRAAAIE, ZAIREE, HAYERE
A 10,000& x5& *505 2,500
THMEG AN R OAEH SAHXZAL E0A
5,000, 000& 12l 5,000
—SHHE &2t 20,0003 3005 6,000
-ZYNITY SEEAMN EANE S =S|
3,000,000& 3,000
O5.= | 2,016
—SHEIAMGEERFA OIZ2LN =4
7,0003 »2B 122 %123 2,016
02 32244 1,000 1,000 0
O1. 232 HA 1,000
-—SHOEE 2E RERS 2,000& 500 1,000
202 044l 2,880 2,160 720
01 2L 2,880 2,160 720
OAE SHEZAMN 2= 0
60,000 x2&H 4L <62 2,880
301 et al= 3,840 3,840 0
12 JIEt2 4= 3,840 3,840 0
OZNLe SSEAMN HelS
8,000& 12070 & XMl *4=2] 3,840
P EIVEES 83,593 87.623 A 4,030
S 25,078
Al 58,515
101 el 4l 27,844 15,614 12,230
S 8,353
Al 19,491
04 JIZtH 22 NHESES 27,844 15,614 12,230
OAMSM=ZAL Q14| 25,709
- A2 el Xt 46,7903 x20H 222 20,588
= 6,177
Al 14,411
-LEUAA 42,6703 +108 122 5,121
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HESH

Mo HPsiAY EX (YYD /LUHE)
el SHXZA (ehel: =3
SN EE - ER(EN) - NRAY - BaS sl e HlRE2
= 1,537
Al 3,584
O4U2E JI2RE3 2,135
- A2l Xt 20,588,000 *9.79% 2,016
& 604
Al 1,412
- A 5,121,000& *2.31% 119
= 35
Al 84
201 ZEt2FH| 55,749 72,009 A 16,260
= 16,725
Al 39,024
01 AtR2tel 55,749 72,009 216,260
O1. L= 55,749
A H A FRUHE =T
44,6703 *48H x26 55,749
= 16,725
Al 39,024
HE2AHU(HE2SAD)(IIEH/DIE) 122,130 110,951 11,179
lAH2HH(FESAD) 45,800 42,856 2,944
AEHA2E| 45,800 42,856 2,944
101 @1 24H| 45,800 42,856 2,944
02 JIEtA E = 45,800 42,856 2,944
OFZA('UH'S:EEI&8MY) 45,800
-As 36,729,000& x1H 36,729
“AI2 R 2R 7,110 «30Al 2tx 123 2,560
-tEsE 960
HH < Kt 40,0003 x1E«12& 480
*JIEHHE 20,0003 x2H 122 480
-AaZ2 2| 155,000 x1H +12& 1,860
-2l &=l 50,000 x1H «12& 600
- Mg A 130,000& 1H 123 1,560
—HOB Al 36,729,000& *15/360 1,531
JIEBH (B2 S 76,330 68,095 8,235
A2 11,410 11,095 315
201 2Bre | 11,410 11,095 315
01 AtR2tel 10,930 10,615 315
ORA=2ZE Liet=ZH| 3,820,000& 3,820
ORAN2E dAM4ALZ2EH 3,260,000& 3,260
ORAM2Z =&l 3,850,000& 3,850
02 2244 480 480 0
ORM2ZE E22R2= 480,000& 480
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